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R2 = 3 M r2 = 2 M m1 = 13 M m2 = 5 M m3 = 26 M
m4 = 15 M S = 92 N
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R2 = 4 M r2 = 3 M m1 = 4 M m2 = 15 M m3 = 15 M
m4 = 10 M S = 176 N
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R2 = 4 M r2 = 2 M m1 = 13 M m2 = 4 M m3 = 26 M
m4 = 15 M S = 135 N
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R1 = 5 M r1 = 3 M R2 = 5 M r2 = 3 M R3 = 4 M r3 = 2 M
m1 = 16 M m2 = 15 M m3 = 15 M m4 = 12 M S = 174 M
α = π/3 N
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R2 = 3 M r2 = 2 M m1 = 5 M m2 = 12 M m3 = 13 M
m4 = 10 M S = 120 M cosα = 0,8 N
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R1 = 4 M r1 = 3 M R2 = 3 M r2 = 2 M R3 = 4 M r3 = 2 M
m1 = 35 M m2 = 10 M m3 = 10 M m4 = 13 M S = 136 M
cosα = 0,6 N
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R2 = 4 M r2 = 3 M R3 = 4 M r3 = 2 M m1 = 1 M m2 = 13 M
m3 = 12 M m4 = 10 M S = 72 M α = π/3 N
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R1 = 3 M r1 = 2 M R2 = 4 M r2 = 2 M m1 = 5 M m2 = 13 M
m3 = 13 M m4 = 12 M S = 86 M cosα = 0,6 N
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R2 = 3 M r2 = 2 M m1 = 4 M m2 = 12 M m3 = 10 M
m4 = 10 M S = 72 N
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R2 = 4 M r2 = 2 M m1 = 10 M m2 = 2 M m3 = 20 M
m4 = 12 M S = 68 N
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R2 = 4 M r2 = 3 M m1 = 5 M m2 = 10 M m3 = 4 M
m4 = 13 M S = 64 M cosα = 0,8 N
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R1 = 4 M r1 = 2 M R2 = 4 M r2 = 3 M m1 = 2 M m2 = 15 M
m3 = 15 M m4 = 13 M S = 135 M α = π/3 N
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R1 = 4 M r1 = 3 M R2 = 4 M r2 = 3 M m1 = 30 M m2 = 13 M
m3 = 15 M m4 = 13 M S = 142 M cosα = cos β = 0,8 N
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R1 = 5 M r1 = 3 M R2 = 4 M r2 = 3 M R3 = 5 M r3 = 3 M
m1 = 6 M m2 = 15 M m3 = 12 M m4 = 10 M S = 129 M
α = π/3 N
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R1 = 4 M r1 = 3 M R2 = 3 M r2 = 2 M m1 = 4 M m2 = 13 M
m3 = 16 M m4 = 13 M S = 92 M α = π/3 N
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R1 = 3 M r1 = 2 M R2 = 3 M r2 = 2 M m1 = 5 M m2 = 13 M
m3 = 10 M m4 = 13 M S = 82 M cosα = 0,8 N

234353 678 9:_9 j ElD@F> Y? @D> m >F?EFD>

I

J

S�

K

L

R2 = 3 M r2 = 2 M m1 = 13 M m2 = 1 M m3 = 26 M
m4 = 13 M S = 80 N
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R1 = 5 M r1 = 3 M R2 = 3 M r2 = 2 M R3 = 4 M r3 = 3 M
m1 = 96 M m2 = 12 M m3 = 13 M m4 = 10 M S = 393 M
α = π/3 N
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R1 = 5 M r1 = 3 M R2 = 4 M r2 = 2 M m1 = 2 M m2 = 12 M
m3 = 5 M m4 = 12 M S = 93 M α = π/3 N
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R2 = 4 M r2 = 2 M m1 = 8 M m2 = 15 M m3 = 10 M
m4 = 15 M S = 144 N
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R2 = 5 M r2 = 3 M m1 = 25 M m2 = 10 M m3 = 12 M
m4 = 15 M S = 62 M cosα = 0,8 N
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R1 = 4 M r1 = 2 M R2 = 5 M r2 = 3 M R3 = 5 M r3 = 3 M
m1 = 125 M m2 = 12 M m3 = 12 M m4 = 12 M S = 483 M
cosα = 0,8 N
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R1 = 3 M r1 = 2 M R2 = 3 M r2 = 2 M R3 = 4 M r3 = 3 M
m1 = 15 M m2 = 10 M m3 = 10 M m4 = 10 M S = 90 M
α = π/3 N
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R1 = 4 M r1 = 2 M R2 = 3 M r2 = 2 M m1 = 2 M m2 = 15 M
m3 = 4 M m4 = 13 M S = 102 M α = π/3 N
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R2 = 4 M r2 = 3 M m1 = 15 M m2 = 1 M m3 = 30 M
m4 = 15 M S = 138 N
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R2 = 3 M r2 = 2 M m1 = 20 M m2 = 15 M m3 = 4 M
m4 = 10 M S = 98 M cosα = 0,6 M β = π/3 N
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R2 = 4 M r2 = 2 M m1 = 5 M m2 = 12 M m3 = 1 M
m4 = 12 M S = 60 M cosα = 0,6 N
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R2 = 4 M r2 = 3 M R3 = 5 M r3 = 3 M m1 = 9 M m2 = 12 M
m3 = 15 M m4 = 13 M S = 147 M α = π/3 N
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R2 = 4 M r2 = 2 M m1 = 13 M m2 = 2 M m3 = 30 M
m4 = 12 M S = 126 N
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